Shri Jain P G College, Bikaner
C-352

B.Com., (Part-11I) Examination, 2019

ECONOMIC ADMINISTRATION AND FINANCIAL

MANAGEMENT

Second Paper
(International Trade and Finance)

Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions, having two questions in each Unit. Candidates are required
to attempt five questions in all, selecting at least one’ question from each unit. Each question
contains Part (a) and Part (b). Answer is to be restricted to the limit of five pages for Part (a)
and about 100 words for Part (b). All questions carry equal marks.
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UNIT -1
-1

Explain the term “International Trade”. Give a comparison of internal and

international trade. ‘ (6+10)
« gl SR 7 Y TEHTEY | A 9 FRIPR SR & o Hifd |

What is Red — clause letter of credit ? @)
ST T AT O 1R 7

What do you understand by “Documentary Credit” ? Explain its importance in

international trade. | (6+10)
T AT & 39 R & 7 ARG R A A RIS R |

What is meant by inter — regional trade ? : @)
FEH SR & T e ¥ 7

1 | P.T.0.
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UNIT -1
w11

Throw light on objectives and functions of World Trade Organisation.

o =R ETeA 3 I S HR WS S |

What is TRIPS ?

Rwnd 7

Write an essay on “World Trade Organisation and India™.

“frea =aTIR TS @ WA W w e Rafigw |

What is TRIMS ?

frmand e

UNIT - 111
T — 111

Define Balance of Payment and explain its importance.

T TG <hl R e i g e i wre A |

Describe the importance of Export Credit Insurance.
Forafa arg o 1 e wa |

Examine the progress of EXIM Bank till this date.
e Pt - TR 99 1 3 7 6wt B wdten it )

Differentiate between Balance of payment and Balance of trade.
ST HaeH o ST Hge B STRR i |

UNIT -1V
-1V

(8+8)

@

(16

@

(6+10)
(O]
(16)

@

What do vou understand by “Terms of Trade™ ? Discuss the factors affecting

terms of trade
Fegra e

What is philosophy of foreign aid ?
T TR A R 7

(6+10)
e £ AT B T ¥ 999 & 7 SR 6 w6t B 1w w0 91 gewt €

“@

s
8. 0-(.) Discuss the problems and recent trends in foreign aid.

®)

9. (a)

(b)

10. (@)

(®)
C-352

et s i wn 3R g Rt w s Bl |

What is meant by regulation of International trade ?
FRig =R % P A s g 7

UNIT-V
wi-v

What do you mean by Foreign Exchange ? Why the problem of foreig

exchange arises ?

Tt Rfma & 3 v e € ¢ eh A H e = s add ¢

‘What is Exchange control ?
Tt famm e 7

Explain the various methods of Exchange control.
T Freor 6 Riftm vefdl < @ |

What is Forward Exchange Rate ?
Fim a2
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C-330

- B.Com. (Part-11I) Examination, 2019

Economic Administration and Financial
Management

First Paper
~ (Business Budgeting)

Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions having two questions
in each Unit. The candidates are required to attempt
~ five questions in all selecting at least one question from
each Unit. Each question contains Part (a) and (b).
Answer is to be restricted to the limit of five pages for
Part (a) and about 100 words for Part (b). All questions

carry equal marks.

57 Y97 97 7 3 597 33 7 & | §3% §h7E 4 51 9 1ed
72 & | gl ) ula X & IR 31 8 | wemer
yei% §TE A 8 G Jo7 T IR &1 AT & | I 1
vaR 8 83 & — 397 9 G 4T (a) T (b) HIT8 | N F HPT
() F I F % IR TS e8] & Tq 47T (b) Y
ST JFT HT IR T 100 ¥ A for@n 8 | gt we)
% 3F THAE |
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(b)

(a)

(b)

Unit -1 '

wii-1
What do you mean- by - “Business
Budgeting” ? State the procedure for
preparation of Budget by a Business
Undertaking. 16
SaERE F9e A AT T THHA & ? T
SR TET g w1 QAR A i Sl
T S |

Budget Committee. 4

e i |

Define “Budget” and “Budgeting”. Discuss
its utility and limitations. 16

e qUT W @ gionia AR |
gaaﬁrana‘rﬁqurﬁmaﬁ'ﬂavhﬁﬁﬁl

Budget period.
q9E Ay |

Unit-1I

- 11
Give a brief description of various types of
functional budget.

Fifi YHR ¥ DRITeTE S I il au
#ifad |

Give two differences between fixed and
flexible budget. 4

foor vd drasfie a9 o & IFa FaTEd |

2

16

. B

'tlh?he following Information is available from
e records of a company for the years
2015-16 and 2016-17. ¢ 16

T At F sl @ af 2015-16 7
2016-17 % wam ¥ el ged

mi:

Output in Nos. | 2015-16 2016-17
60% 80%
Capacity Capacity
6000 units | 8000 units
Indirect 3,000 4,000
Material
Indirect Labour 1,200 1,600
Repairs and 1,600 2,000
Maintenance :
Power and fuel - 320 360
Salaries 2,000 2,000
Depreciation 1,500 1,500
Insurance 700 700
Stores 1,200 1,600
Salesman 600 800
Commission
Distribution 2,400 3,200
expenses _

Prepare a flexible budget at 70%, 90% and
100%.
70%, 90% a1 100% Fgwm & A &
e w9 I |

P.T.O.
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(b) A firm sells 1,50,000 units of a product in'a’
year. Fifty percent sales of a firm will
probably be evenly divided between the
first and last calendar quarters of the year
with twice as many sales being made in the
second quarter as in the third. Find out the
number of units sold in each quarter.

T geuT 94 § Uk ITe i 1,50,000 3HTET
Judt B | gt 50 vl fash o i wem
e f<m vt forrd § s aun i
Tt & et 6 @ T @R S T
2 | 7% T § <t 91 areht swEat i
T ars |

Unit — 11
= - 11

Explain the meaning of cash budget. How is

it prepared ? Discuss its importance. 16

Tk I 1 37 Tuemsy | 98 ¥4 Jaw fear
TR ? T HEw W iR |

(b) Difference between Cash budget and
Financial budget.

Uehg woie auT e wre o 3t |
C-350 4

dn

6.

S

(a) Calculate long term trend values by using ]

®

(@

least square method. 1
2w T R F wim g B i Q
Qreehreta sfRr vt < o PR |

Year Production (in tonnes)
2009 80

2010
2011 92
2012
2013 94

2014 99

2015 92

2016 92

If two regression coefficients are 0.8 and
045 then calculate coefficient of
correlation. 4

I} Q weftwnE Ui 0.8 a°r 0.45 A, A
HEEE TN TG I |

6

&

- -]
w

Unit - IV

-1V
From the following data calculate :
(i)  Activity Ratio
(ii) Capacity Ratio and
(iii) Efficiency Ratio
Frafafaa et @ 7 it
() ireferar e
(ii) &waT T
(iii)  SpreAAT FFI

5 P.T.O.
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8 (a)

(b
C-350

A factory manufactures two products “A” 4.
and “B”. Standard time to manufacture ‘A’
product is 2 hours and product ‘B’ is 10
hours. The budget and Actual production in
March 2018 were as follows :

T HR@AT 3 I T q° W F I
F@1 2 | 3AE T F e & ol s w

) Huer & A IR o H R 10 59T 8 |

A 2018 § s w§ Irafes Iaed B
TS :

Budgeted ~ Actual
Production Production
Product A 125 Units . 100 Units,
Product B 30 Units 24 Units
Total actual hours worked : 660 16
Zero Base Budgeting. 4
T YR §9A |

Describe the various stages or procedure for
performance budgeting. Give a format for

it. 16
e wwe 6 b sEest @
wiEat w1 vl HRA | saewr T
i |

Difference between performance budgeting
and traditional budgeting.

freare wreren uE TrTd w9ed § A |

4

9.

Unit -V
— wi-v
a Culmeﬁxedo M .
information giverr below : from the
P et 3 el soter Rl @
miﬁﬁ'&:

16

Budget Actual
1. No. of working 20 2

days in a month
2. Man-hours

during the month 4000 4300
3. Output in units - 425
4. Standard man-

hours per unit 10
5. Fixed overhead -

. 6. Standard
overhead rate per
man hour

18,000

TS5 -

(b) Calculate sales variances. 4

10. (a)

(b)  Cetainity equivalent coefficient.

fersha ferroit <6t o AR |

Budgeted units sold 4,000
Actual units sold 3,200
Budgeted selling price per unit T15
Actual selling price per unit 20
Explain in brief the methods of dealing with
Risk Analysis. 16
SiRen fverw 6 fafte Rt #t @@ §

g |
Fifeaaan guged oS

7
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' C-349

B.Com. (Part-111) Examination, 2019
BUSINESS MANAGEMENT

First Paper
(Insurance)

Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions having two questions
in each Unit. The candidates ‘are required to attempt
five questions in all, selecting at least one question
from each unit. Each question contains Part (a) and Part
(b). Answer is to be restricted to the limit of five pages
for Part (a) and about 100 words for Part (b). All

questions carry equal marks.

39 Y9 # qF 3 fF R § | T IR 4 @ v R
T # | qhenfial S ol yeE F IR AR | whaRiat @y
TF THE T A T Y HT I A AR & | 37 A
TR & 37 & - 9 1 & W () T 9T (b) & | 59 F Wy
(a) % FEaToTS W¥ & IT A 5 Y81 § & 9 (b)
Y IUHD T BT IO AT 100 W) § foram 2 |
avft el & st auH € |

C-349 1 P.T.O.
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1. (2
(b)
2. (a)
(b)
3. (a)
(b)
C-349

UNIT -1 ‘ =
wi-1

Define insurance and explain - its
characteristics. (4+12)
<o 1w SR e g R =

wE I |

What is a pure risk ? @)
geSifan e ?

Distinguish between Double insurance and
Re-insurance. Discuss the various methods
of Re-insurance. (8+8)

Qe0 =1 T gt A wared | g
w0 1 faft= faftrt <6t fade iR

What do you mean by principle of Utmost
Good Faith ? )

i Hg favare & g @ s waEsa # 7

UNIT - 11
-1
Discuss the important stages from proposal

to policy at the office of the Life Insurance
Corporation. (16)

S <t fom & Fratfea § yeae @ o=

T A TR I wEEq S H A
Hife |

What is meant by days of grace ? @
Fue el & 7 v # 7

2

4. (a)
®)
5. (a
(®)
6. (a
(b
7. (a
C-349

What is mortality table ? Explain its
necessity and importance. What are their
kinds ? Explain. 4+8+4)

TR afers :&1 R 7 Wh AawEwa @

& 4aR) | 38 fFe yeR f Bt R 2 e
R |

What is Premium ? 7))
e ?

UNIT - III
e — 10

What is Salary Saving Insurance Scheme ?
Describe the main elements of the scheme. (4+12)

Yo a9 S Ao 1T R 7 T T awl

%1 9o AR |

What is a whole life policy ? @
e e R ?

Describe the procedure of claim settlement
on the death of the assured life. 16)

it S 6 30y T W g F Foer H
witean ameTR |
Group insurance. @
g s

UNIT-1IV

wE -1V

Narrate the important provisions regarding
Fire Insurance. (16)
R G ¥ waiRE T E

Ieaw FIA |
s P.T.0.
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10.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Crop Insurance. @)

S ST

What is meant by marine insurance ?
Explain the procedure for issuing a marine -
insurance policy. (4+12)
ot ffmr @ T o ® 7 W W

IR 0 & wfn aHemd |

Burglary Insurance. @
=R

UNIT-V

-V
What is an Insurance Agent ? Discuss the
rights and duties of an insurance agent. (4+12)

0 W= 13 7 TH T & IAURRT g
FHAedl T U AR |

Functions of Life Insurance Corporation. 4)
Stam s fom & et

Write an essay on liberalization of
Insurance Sector in India. (16)

i o iy & & gl W uw fay
fafad |

State the names of any five departments of
the divisional office of L.1.C. 4)

e <ftar A & wvee wrEfag & fedf ofg
fararmt & AW Far |
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C-3351

B.Com. (Part-11I) Examination, 2019
BUSINESS MANAGEMENT
Second Paper

(Industrial Law)

Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions having two questions
in each Unit. The candidates are required to attempt
Jfive questions in all, selecting at least one question from
each Unit. Each question contains Part (a) and part (b).
Answer is to be restricted to the limit of five pages for

Part (a) and about 100 words for Part (b). All questions
carry equal marks.

39 97 97 7 g 397 133 13 & | 3% 397 7 at yv 33
13 & | ghenert &) uia yel & Fow 241 8 | vhenefat %)
Y% 78 T 8 O T F7 I A A & | I A
YFR @37 E— T 73 97T (a) G (b) W1 & | 99T F Wy
() & RTTHH 5 F I AT S J%31 3 T& 377 (b) 79
ST N T IR AT 100 Y11 7 Ioraar @ | ot wt
% 37 T E |

C-351 1 P.T.O.
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C-351

(a)

(b)

(a)

(b)

(a)

(b)

~ workers in Factories Act.

Unit -1
-1
State the provisions made for safety of
_ 16
Fr@r Afufem § sfeet 6 gen & -
7 T WIEHTEl ) anE |

How are inspectors appointed under
Factories Act ? 4

F@A AuREm ¥ Jaia gt 6
fagfaR e TR R ST & 7

What are the prohibitions related to women
and children employed at work by Factories
Act ? Explain. 16
HREFT SR gRT T 3 e H HE
AT ¥ Gy i F wReEw § 7 @ |

What are the functions of Labour Welfare
Officer ? 4
5 o] I % T B € ?

Unit - 1T

- 11
Define the term industrial dispute and explain
the causes of Industrial Disputes in India.
et faTe vreg 1 AR o 7 i
# S Riarel % HRUT 1 e HIRT |
State any four objectives of Industrial
Dispute Act.

et fae fim ¥ =T R T |

4. "

®

5. (a)
(b

6 (a)
(®

C-351

What do you mean by deduction out of
wages 7 What deduction can be made by an
employer out of the wages of an employed
person ? 16

wegh § & wAfet & o wn e € 7
Yaritos Pl safe 6t mogh § & S 9
HMeai HHHATE ?

Who is responsible for the payment of
wages ? 4

W{ﬁgﬂﬂﬁﬁimﬂ?mﬁmi ?

Unit - ITI

¥ - [
What is the Employees State Insurance Act,
1948 ? State the main characteristics of Act. 16
el T s affem, 1948 ¥R 7
iftrfrm 6 g st i @@ |
What do you mean by Medical Benefits
Council ? 4

AR wm Tt & 9 w1 e & 7

What are the provisions related to eligibility
for Bonus and disqualification for Bonus as

per Payment of Bonus Act ? 16
A gram St ¥ SIER d #
QT Ol SR gat 1 A 27
State the computation of Gross Profit. 4
e AT ) TIOT Y E |

3 P.T.O.
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10.

C-351

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

«a- .

When does compensation become payable
to a workman under the Workmen’s

Compensation Act ? _ 16
msﬁ%’r Htfam & Aaid & sfies
! AANE ?

What is occupational disease ? 4
SEEREG YT FT 2 7

What is Minimum Wages Act, 1948 ? State
the need and importance of Minimum
Wages Act. 16

= aftfam, 1948 @1 @ ? =Taw
uﬁ@ﬁmaﬁmq&mﬁ
e HIfT |

What is meant by Appropriate Government ? 4

I TR T ANI R ?

Unit-V

TR -V
State the meaning and functions of Trade
Union in detail. . 16

HH HY H1 37 FaTd Y T BT B! forman @
U |

What is meant by Trade Union Registration ? 4
TH T Y19 & 1 WA R 7

State the main provisions of the payment of
Gratuity Act, 1972. e 16

Gl Ffufvm, 1972 % yer wauE
aﬁwgw:ﬂ ¥

What is meant by Recovery of Gratuity ? 4
U4 ht el @ wa St R

4
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C-347

B.Com. (Part-111) Examination, 2019
ACCOUNTANCY AND BUSINESS STATISTICS
Second Paper
(Taxation and Auditing)

lime allowed - Three hours
Maximum Marks - 100

This paper comains ten questions having two questions in each Unit. The candidates are
required to attempt five questions in all, selecting at least one question from each unit. Each
guestion contains Part (a) and Part (b). Answer is to be restricted to the limit of five pages

Jor part (a) and about 100 words for part (b). All questions carry equal marks,

36 99 U 4 g8 v T T # | vl 3 1 @ v A m ¥ | whanfia @) vie we F I
&1 2 | wlianfiat @ e 3 9 @ T 9 1 St o AaE R | SR Am ywn A A E -
¥ T € 9T (a) T 9T (b) 8 | Y97 o YT (a) % HE-T0H 94 o Iq AT 5 I81 § T N

(b) T ITIH T T I AT 100 wreg # foran 2 | wvft el o 3k e 2 |

UNIT -1

-1

What do you understand by Goods and Service Tax ? Explain its main

1. (a)
advantages and dis-advantages. 4+8+4

o T e R 3T A & 7 D TG A QAR |

(b) What do you mean by ‘Composite Supply’ under the Central Goods and Service
4

Tax Act ?
ﬁam@ﬁmmm%mﬁgﬁm'ﬁmw ANIR 7
C-347 1 P.T.0.
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(a)

C-247

(by

Monakshi Garments Ltd., Jaipur entered into a contract with ABC Ltd., Kota for
supply of 10,000 Readymade Shirts. Each Shirt value ¥ 200. Goods will be
packed in designer boxes and supply would be made at ABC Ltd.’s*showroom. '
Monakshi Garments would make arrangement for transportation and gét them
insured during transit. Packing cost amounted to 2 50,000. Transportation freight
is ¥ 10,000 and insurance charges is ¥ 20,000.
Assume GST Rate on garments 12%, on packing material 5%, on transport
freight 18% and on insurance services 18%, then determine the tax liability of
Monakshi Garments Lid. in respect of this consignment and also state the nature
of supply. 10+6
Hreft TevgE ffiRe, s ABC fafiRs, e Y 10,000 Y W 6 gl
1 Y e | w1 0 2 200 B | Wi o feome st & ¥ w06
ABC fafirs & e = w amgfd & wmnft |
Ararefl TRiven & uftaen i sgaw Huh @ s ot s | 3 W T 50,000
=% U, | GREEA WIet T 10,000 TS = AT =14 T 20,0002 |
afs AT W GST & 12%, A6 gmsft 0t GST & 5%, TRas 18 | GST &
18% e S Fa1 W GST T 18% T IR A Jwur & wra-y § dimeft TRveE &
a5 2rferes =7 Frerfon <6ifor e 3R < sl oft wared |

What do you mean by the term ‘Supply’ under the Goods and Service Tax
(GST) Law ? 4
T wE e (GST) FE 6 aed Y F AT R ¢

UNIT-11

=i -1

. . ) ..
Write notes on the following : 4+4+4+4

s (b) What is the time period within which invoice has to be issued for supply of
goods ?

e I & ey i a8 wwaraty Fa R st 9w R o TR 2

BLB (Pvt.) Ltd. is engaged in supplying taxable goods to its customers within
the state and it is not liable for registration under section 22 of CGST Act, 2017.
From 16" February, 2018 it started inter-state supply of taxable goods hence it
applied for registration on 24® February, 2018 and the same has been granted to
it. Its CGST, SGST and IGST liability for the month of February, 2018 is
¥ 39,000, ¥ 39,000 and ¥ 81,000 respectively and BLB (Pvt.) Ltd. has to make
payment of tax on the due date i.e. on 20" March 2018.

BLB (Pvt.) Ltd. has provided the following details of stock of input held on
15" February, 2018 and tax paid thereon :

BLB W15z fifie 31 Tresh! 1 T 3 it o v et Kt off & onft 5§ R qen
7% it TSt Ud Fa T AR, 2017 Y GR 22 F a8a e $ ford gt T
21 16 FEQ, 2018 A Y W Ay 7 Hi A=A gff wrer A, gofe s
24 STl 2018 H Tl F Rl arden feran e < & whgra ¢ R man | wrE
&, 2018 % f9u F@H CGST, SGST W IGST F1 qif¥e ¥ T 39,000,
239,000 TF ¥ 81,000 2 | BLB Wig¥e fafids =i 37 fafr arwrfq 20 7, 2018
B YPIAH FEATR |

BLB Wis¥e Rifids ¥ 15 wiahl, 2018 1 &% § aiia F9f % K% @ 3 N
TFR T R Praferfiga s A fra

Particulars

CGST (?) | SGST (%)

Inputs received on 12-01-2018 (invoice
date 13-01-2018) lying in stock

Input received on 27-10-2017 (invoice date
28-10-2017) lying in semi-finished stock
Input received on 17-01-2017 (invoice date I
17-01-2018) contained in finished goods w
Briefly explain the payable by BLB (Pvt.) Ltd. in cash if any.

BLB STy Rafirre gr 7 i Gue, AR #1494 e |

for the composition scheme.

Assume that BLB (Pv1.) Ltd. has not opted 2
7 Wi % BLBWZW@%WW%W‘“@ T
3

P.T.0
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(b) Explain the provisions relating to value of supply of services in relation to life

(@)

(b)

{a)

insurance business.

Wﬁmw%mﬁﬁmﬁﬁy@%wﬁm'mﬁ'

|HAFTEY |
UNIT -1

%0 - 111

Write a detailed note in Respect of exempted services on the basis of notification

issued under the Central Goods and Service Tax Act, 2017.

Fra O U ey AR, 2017 % qEa S SAfEE & A W -

Tl % Foag § v faega org fofEd o

Explain the provision regarding payment in installments under the Central

Goods and Service Tax Act.

= T TS T F A F aEa Rl § TE & U S 9 |

Dinesh & Brothers of Kota is a partnership firm engaged in trading of goods. In
financial vear 2017-18 total value of supplies including inward supplies taxed
under reverse charge basis are 7 1.12,80,000. The break up of supplies are as

follows :

o vz FEE = B UF TEe w2 Fa-fara F memm e ge # ) faefia
=9 2017-17 & sy ATYHAS 1 F g4 2 1,12,80.000 # | 38 faala smaw @
7 27 gfAat =1 gea afed 2 | AT e - e fam f ym R

o Particulars 4 I
Intra SMUS made under forward charge 48.00,000 |
Totra State Supplies made which arc chargeable to GST at | 20.00,000 |
Nil Rate !
State Supplics which are wholly exempt under | 32,80,000 |
1 of CGST Act. 2017 i
12,00,000

r inward supplies “on which tax payable under

ancial year-2018-19.

Sir © o e w o vnz gad fada @@ 2018-19 4 T AT H

e L cE R o b 4

e EEE——

IR, o g

~ (b)

7. (a)

C-347

Who are the persons not cligible to opt for composition scheme 7
3 et e 8 g A ) s 5 o A 7
UNIT-1V
wi-1v
Jeen Manufacturers and Exporters Pvi. Ltd. furnishes following information and
Requires you to compute the maximum refund eligible in respect of zero-rated
supplies under rule 8%(4) for the Relevant period : 1
o gt v v s fefazs et g e w8
e s & fom 7 70 o w4 frm 89(4) F A wfvsan ar
Particulars | Amount (})
(1) Input tax credit availed on inputs (including ¥ 20.000
amount of credit under rule 89(4A)) 1,00,000
(2) Input tax credit availed on input services ; 20.000
(3) Input tax credit availed on capital goods | 80000
(4) Taxable value of goods exported without payment of tax |
including ¥ 2,00,000 being the value of taxable goods in |
respect of which claim has been made under rule 89 (4A) | 8.00,000 |
I (S) Taxable valuc of goods supplied within India | 1400000
]L (6) Payment received towards services supplied for exports | 2.,00,000 t
B) Taxable value of services supplied within India 1 2,00,000 :
P.T
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347

(b)

feraror R R)
(1) e Pl s w58 FaE 89(4A) F a8 I H

% 20,000 AfEfeTa 2 1) .1,00.000
L) T e e s T 20,000
1‘(3) it e o e s e 6 80,000
i;(4’) o = gor Frata fR m o o g faet fem
| 89 (4A) % TEq g R TR e 1 A R € 2,00,000
| iR ) 8,00,000
%(5) e # fd R T e 1 R A e 14,00,000
[ (6) Taia o forg srem Fanait & for e s feRan 2,00,000
(7) e H € Fet w1 A e 2,00,000

What is zero-rated supply ?

TS Y R 7

Explain the main characteristics of Integrated Good and Service Tax.

Wm@ﬁmwﬁg@ﬁﬁmzﬁmaﬁaml

What will be the place of supply in respect of following services under (i) Bank

i) Mail (iii) Transport (iv) Tele-Communication services.

v BT

Wit is

UNIT-V

-V

s & a0 B 7 A & 3399 UE STl o i Fif |

w0 the wtiliny ef continuous Audit.

I waan & st ) we fifae )

meant by Audit 7 Mention the objects and advantages of Audit.

1+1+1+1=4
Srfafigm oA F Fed § g S S a4 A (i) 9, (i) B, (i) e,

T-TEH 313'7'6
- .

How will you audit the following ?

Issue of share ata premium

1o @
‘ @
(i) Buy-back of own share
(iii) Transfer of shares
@iv) Redemption of Redeemable preference share.
i R 1 SR &4 HU 7
() ST it &1 A
i) = A e wlie
(i) 3 BT FET
(v) e AfmE gt &1 A
(b) “Vouching is the essence of Auditing” Comment.
T SR 1 AR R |7 T HIT |

4+6+6

C.aay
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| C-345

B.Com. (Part-I1I) Examination, 2019

ACCOUNTING AND BUSINESS STATISTICS

First Paper
(Corporate Accounting)

Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions having two questions in each Unit. The candidates are
required to attempt five questions in all, selecting at least one question from each unit. Each
question contains Part (a) and Part (b). Answer is to be restricted to the limit of five pages for

Part (a) and about 100 words for Part (b). All questions carry equal marks.

3@ WA g8 v el R ¥ | e v F 9 v R ma # | whenRi S e wwi
3 | el Y S 3T 3 ¥ O T 1 I P Y | e Q9w (a) & (b) # 1w
F W (2) F FrEaTeTes T F IT AT 5 I8 & TE W (b) Y IAUH T HT IR 0T

100 Teei & R | At Ui & S A # |
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(2)  The Balance Sheet of a limited company as on March 31, 2018 is as follows :

C-345

UNIT -1

e -1

31 9, 2018 3 u R sl o gy P T R
Balance Sheet as on 31* March, 2018

Figures as
on 31*
March,
2018 (X)
L Equity and Liabilities :
(1)  Shareholder’s Funds
(a) Share Capital
Authorised : 25000 Equity shares of ¥ 100
each 25,00,000
Issued and subscribed :
16000 Equity shares of
¥ 100 each fully paid. 16,00,000
(b) Reserve and Surplus :
P & L A/c. (Debit) (21,40,000)
(2) Non-current liabilities :
Debentures 28,00,000
(3) Current liabilities :
Sundry creditors :
Income tax T 20,000
Trade & General T 9,00,000 9,20,000
Accrued Interest on Debentures 1,40,000
Total : | 33,20,000
Assets
(1) Non-current Assets :
(a) Tangible fixed Assets
i Land and Building 1,00,000
| Machinery 28,60,000
| (b) Investments (Long-term) 34,000
| (2) Current Assets
Stock 1,60,000
Sundry Debtors 60,000
| Cash 1,06,000
f Total : | 33,20,000

(16)

The machinery is heavily overvalued. The debenture holders have a ﬂoating
charge on the assets of the company. The){ are prepared to accept a modification of
their claims in consideration of a substantial interest in the share capital. A scheme

of re-organisation is accordingly prepared and duly con

31" March, 2018. The scheme are as follows :

firmed by the court on

C-345

(U]
(ii)

(i)

Each equity share shall be sub-divided into 20 fully paid equity shares of ¢ 5
each.

Afl'er sub-division, each shareholder shall surrender to the company 95% of
their equity share holdings for the purpose of re-issue to debenture holders
and creditors so far as required, and otherwise for cancellation.

Of those surrendered 92000 shares of ¥ 5 each shall be converted into 8%

participating P.S. of ¥ 5 each fully paid.
The debenture holders', total claim shall be reduced to T 4,60,000. This will

be satisfied by the issue to them of 92,000 8% participating P.S. of ¥ 5 each
fully paid.

The liability for Income tax to be satisfied in full within next 3 months.
The claims of unsecured creditors shall be reduced by 80% and the balance

claims shall be satisfied by allotting them fully paid equity shares of ¥ §
each, from the share surrendered.

(vii) Shares surrendered and not re-issued shall be cancelled.

Authorised capital shares be consisting of 2,50,000 equity shares of ¥ 5 each and
2,50,000 8% P.S. of 5 each.

Give necessary Journal entries and Revised Balance Sheet assuming that the tax
liability is not yet paid.

AT ? | wumEaiEl w1 Feh B aaRe waa-em R 13
ot i 379 oft 3 vt W 33 3 wfeeet 1 e ) difte €9 § wher w0 @ R
R | TegER GRTEA Y Ao dan < A & 9o e g 31 W, 2018 Y Rt
IR R | Ao b forg P e R
() T IREE P T 5 T 20 IRA 37w F fenifva w fearwmm
(i) ForTIom % veTq S STl IE g aTia R T 959 el W weE

T HM SR Y 3N AATIHATER FOFUIIE! TH ARl ) ARiiiE W

o e A g o R S
(iii) S 3 gulda fRd T E 39 @ T 5 919 92,000 I H T 5 IR 8% IaRE

it Qo vaifter st & whafda w0 smm |
(iv) SRUIETRET 1 T QaT R 4,60,000 T weT fan mem | 36 w2 x¢ qEl B

TgfE T 5 9 8% 92,000 R 1rf yiea iR siwl # Prifa = A

SR |
(v) AR % gified 1 AR A A o s SR |
(vi) g el % Tl B 80% & FW H e JRAM 3k 3% I g B

T wafda S A A T 5 A IS At W AA FH A IR |
(vii) ¥ 3@ N wfa fRd R ¥, g Wfife T R T E, s w W R

Ecudl
aferepa ot 2,50,000 ¥ 371 2.5 TR TR 2,50,000 8% AW 3w X S AN
iyt & Rwiore &t |
7z A gU T F i =1 3nft 9% yraw Tt gan R, Stews Srtw whifeat w
weiftra g v |

(iv)

v)
(vi)

3 PTO.
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(a)
(b)
3 (a)
®)
4. (a)
b)
caas

th'n does following entry show in the books of transferee company ?
TR o ) e Pt sfafe 7 e AR 2
Export subsidiary Reserve a/c Dr.

To Amalgamation Adjustment a/c

v @

What is amalgamation of companies ? Describe main features of AS-14
regarding Accounting for Amalgamation. 4+12)

At e ?@a;m%ﬁuim%mﬁfxs-m%gmﬁiaﬁﬁ
TR
‘What is Capital Reduction Account ?

@
e amany ?

UNIT -1II

- 10
What factors should be kept in mind at the time of valuation of goodwill ?
Discuss the various methods of valuing goodwill. (6 +10)
fa % i FW T A & TeH B AW § T i 7 el % qeie
i fafir faftrt &1 aola AR |
Explain accounting concept of goodwill. 4)
AT Y T ST Bl T HIRAT |

On the basis of the following information relating to Ram limited, calculate value
of its equity share on the basis of Expected Rate of Return Method : (16)

m foafiees ¥ g=fRe fafafen 991 F omm = 393 3 sm =1 7=
Frenf= veag o farft g witefera AR

50,000 Equity shares of ¥ 100
each, T 80 paid-up

10% Preference share capital
(In 100 fully paid up shares) ¥ 20,00,000

Profit Before Tax (R qd @) T 65,38,461

Rate of Tax on profit (Gross) 35%

Normal Rate of Return on the

company's partly  paid-up

equity shares 15%

Ignore corporate dividend distribution tax.
s =T o R AH T TR

Describe ‘Valuation of Right’ Pertaining to shares. @)
w7 & w1 Tl 1 e B |

4

T 40,00,000

C-345

]

(a)

UNIT - III
The ac ~in
Direc[mnul?‘mm of a limited company placed before the Company's Board of
asked 1o o, Wndermentioned Balance Sheet as on 31% March, 2018. You are
Sheet s lEdr‘aﬁ 1tin the Companies Act, 2013 Schedule III Format of Balance
= ﬁ’lﬁé‘lgm it may be acceptable to the Company’s auditors.
N FH] % TG 3 Fr 5 TS VS & @94 31 U, 2018 B

%W&N? I 3T ¥8 A T e P, 2013 € s m

e e e 85 e s 9t e rm st i) g et e v |

Balance Sheet as drawn by Company’s Accountant.

(Tin th d)
Liabilities Amount
, ® @®
Share Capital 80,000
Bills payable 10,000
Less: Bills Receivable 8,000 2,000
Bank overdraft 20,000
Less: Preliminary
expenses 10,000
10,000
Less: Share underwriting
commission 5.000 5,000
Profit and Loss Account :
Profit during the year 25,000
Less: Previous year’s B/F 15,000 10.000
97,000
Assets Amount
®) ®
Calls in arrears 2,000
Sundry Debtors 50,000
Less: Sundry Creditors 30,000 20,000
Stock 30,000
Plant 30,000
Less: Depreciation 1,500 28,500
Furniture & Fixtures 10,000
Cash in hand 500
Cash at Bank 6,000
97,000

The following additional information are also supplied to you :

(i) The company was registered with a capital of 8,500 thousand shares of
Z 10 each, Payable ¥ 2.50 on application, ¥ 2.50 on allotment and
2 5 on call. 8,000 thousand shares were taken up by the public with the
exception of the call money on 400 thousand shares all money were duly

ived.

(i) rPer(;c\:ision for Bad and Doubtful Debts should be made @ 2.5% on debtors

and the profit during the current year should be correspondingly revised.

5 P.T.0
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i B srfafe qed & o - \

O FF 61O T 10 T 8,500 waw 3w 6 g @ gon R W T 250
FTAEA W, X 2.50 F&7 WA T 5 T 27 o1 1 8,000 AR 39 S For TN
R AT T §W | 400 TR 3w B x an f¥n A g o,
ISH T Swied A v w8 e ol e 8w/

(i) e Ef v g O T 2,55 & T au agge W 7€ &
™ ) weift S |

() What do you mean by the term Managerial Remuneration ? [O))
e Y IYHT T A R ?

(@)  State briefly the law and the procedure regarding declaration and payment of
dividend by a company. What accounting entries are passed at the time of
declaration and payment of dividend ? (8+8)
T FIA G S i SN0 O 39S YAE S S T SR F1 w89 §
o SR | AT SO T YA R - S st B I e

(b)  What is the Firm Underwriting ? [C)]
g M TR ?
UNIT -1V
-V

(a) What is purchase consideraton in Acquisition of Business ? How is it
ascertained ? What journal entries are passed in the books of purchasing company
for the purchase of business and payment of purchase consideration ? 4+4+8)
=aqg FF § FY Ifahe T g1 @ 2 g (aR e yen f o @ 2 S
F) I [EH1 § AR Bl GG T FA-Tawd F PaE F0 F g /& wHia
siafmi R € 2

(b) What is meant by Vendor's guarantee relating to dividend ? )
rERTE s g S Y TR I R 7

{a) A limited company went into voluntary liquidation with liabilities amounting to
7 30.000 and assets which eventually realized T 1.78.000. The capital consisted of
10.000 Preference Shares of T 10 each of which ¥ 7 per share was called and
paid up. The holders of four-fifths of the total number of Preference Shares had,
however. paid up the full ¥ 10 in advance of cal_ls. There were also 10,000
Equity Shares of ¥ 10 each on which nine-tenths of the share amount had been
called. Holders of one-fifth of the total number of Equity shares had. however,
pa:d oniy T § per shares, while the holders of two-fifth of the total number of
Equity shares had paid up full ¥ 10 in advance of calls. )

" “The liguidator is entitled to commission of 2% on amounts realized from

assets and 2% on amounts distributed to Equity shareholders as final dividend.

in the form of a Liguidator’s Receipt and payment account, how you
would divide the available balance amongst the shareholders, assuming that the
cost of winding up amounted to ¥ 2,000 and that the calls in arrears are duly

collected.

(16)

¢
(b)
9 (a)
®)
10. (a)
C-345

T W w3 p 30,000 & afee aw wwid & a e s
178,000 ) ageh . fss wum R | e # PR T L0 TR 10,000
i S fafn oft | g w2 7 W v fr @ WP TR G veE @ 1 &S
TR 3 5 e 3 st o sifeen S € 10 N T % w0 g &
o o 1 i 3 2 10 9@ 10,000 WA 3w of i w1 W T A &
30 7 w1 0/10 wm F g g W T W (s W& T R
FAUTH! 3 Fe ¥ 8 9 379 #1 yrar R o s o 9w & 25 W ¥ wrewt
3 sifee T ¢ 10 % i arern ¥ w9 e A R e |

THIYH HI g & ge K m oR W 26 AU RS R B wiAm emw
% w9 4 fafa ) 7 af W 26 R T 3 1 R R | s & W w
YTAH G % F9 F W11 S 78 T3 i w9 F vra Ioere Ofd 1 it

# fw wm famwr fra 9@, a8 TR g e BN § =@ 07 2,000 F @ @
THET A A i TG A o

What items are included in the statement of affairs which is prepared at the time

of winding up of a company ? @
R F T F Fr RR Ry I e Rl Ry § feA-feT ol ® s
femam ¢

UNIT-V

wi-v
What are inter-company (transactions between holding company and its
subsidiary companies ? Give few examples of such transactions and state as to
how they are dealt with at the time of preparing consolidated Balance Sheet. (8 +8)

FIA 3R TEH TES R & T 1 H: T TR W & 7

TR F oA & $6 e AR ol v B i fag R e w
i g TR R w2
Explain minority interest in the context of consolidated Balance Sheet. @

wﬁ%%@ﬁmﬁmﬁﬂmu

A water supply company laid down a main at a cost of ¥ 8,00.000 in the year
2004. In the year 2018 the company laid down an auxiliary main for one-fourth
of the length of the old main at a cost of ¥ 3,00.000. It also replaced the rest of
the length of the old main at a cost of ¥ 9,00,000. The cost of construction has
gone by 25%. Sale of the old materials realized ¥ 20,000. Old materials costing
7 35,000 were re-used in replacement work and those costing ¥ 30,000 were
used in the construction of auxiliary main. These amounts are included in the
costs mentioned above.

You are required 1o give journal entries for recording the above
transactions. Also prepare the Mains Account and Replacement Account in the
books of the company. a6

7 P.T.0.
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T St Froht grr o 2004 3 8,00,000 1 AT T HEA W’Wﬂimwf
(main‘):ﬂeﬁfré%ﬁ|aé2018ﬁmﬁﬁsawam*@’a'§"é AT
O HETh M T 3,00,000 6 # R Belt | FHoaed A A g B
M1 29,00,000 1 T T grerifm o 2 | Fwfor 1 @ A 25% ﬁm%
T wmf 3 faska & 2 20,000 T g d | 7 35,000@@3“1@,,,&@
wﬁﬁmﬁné 3 30,000 g i QA AT FEEH A
& R | 7% TRt s A e A wfRRE R | e o
mmm'aﬁaﬂm%mm-mﬁm'ﬁmﬁmm
R | o o g § T (main) @ e “greie @A 3 T |
(b) In the books of S Limited Plant and Machinery stands on I Afpril’ 2017 .at a
figure of ¥ 20,000. On this dated H Limited purchased controllu.lg shares in S
Limited. For the purpose of fixing the price of the shares of S Limited p}m?hased
by H Limited Plant and Machinery of S Limited was revalued by H Limited at

¥ 30,000. S Limited has charged depreciation on 31 March, 2018 @ 10% per
annum on the Plant and Machinery’s year’s operating book value of ¥ 20,000.

State the amount at which Plant and Machinery of S Limited will appear in
the consolidated Balance Sheet as on 31 March, 2018. (C)]

‘T’ fofties  gwmi § 1 anda, 2017 # wwe s w2 20,000 i TR W
feamdl g8 2 | 7@ fofy ) o’ forfivee g ‘@ s w friar ¥ s s el |
m%&@aﬁﬁwmﬁuﬁamﬁ%ﬁm‘@’%ﬁé@ﬁ‘m’%ﬁé@ﬁw
T T Y 2 30,000 W gfeifea fRe | w fafde 31 W, 2018 &Y AT

mwmmaﬁ%qu@?zo,mmlo%aﬁ*ﬁmﬁ
T -3 raferiad i | '

8 TR e R w31 A, 2018 F i e uw fepre
e e
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